Warm Up «+ 4x*%

Determine the general antiderivative:
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Use a Riemann Summation to determine the area below
the curvey = x2 + 1, between x =0 and x = 3.
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Use a Riemann sum to determine the area bound by the
curve f{x) = -x2 + 4 and the x-axis.
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Example:

Suppose R is the area in the first quadrant below the curve
y=2x>+2 betweenx=0andx=4. -

(a) Approximate the area of "R" using 8 rectangles with height
determined by the left-hand endpoint = Y3
(b) Determine the exact area of "R" using a Riemann
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Use a Riemann Summation to determine the area below the curve
pnd gbeve the  x-axis, between  x =-2and x =1.




Practice Exercises:

Determine each of the following areas using a
Riemann Sum with an infinite number of rectangles:

/A
(1) Area below f(x)=2x" -1 betweenx =1 and x = 3. 3

(2) Area below f(x)=x"-4x+7 betweenx =-1 and x =2, /8

(3) Area below f(x)=x"+2x"+x betweenx =0 and x = 1. /7
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